540x290cm



=,

xX24 x32 4 x1400
W1 (6x160) W2 (6x140) (6x80) W5 (2x50)
€ €

U@
(E




X2

X2






2528mm

X=Y=6129mm

2528mm

Y

A

Y

A

2490mm

2490mm

A

3500mm

2900mm

X

3500mm
2900mm

X

5400mm

Y

A

6000mm

Y

A

5400mm

Y

A

6000mm

Y

A




Y=6129mm

X=









e/

Q

o]
Q

37
&




w4 / N

o O/

@/

(6x100) / LIl

W4
(6x100)

f
xX24
W4 (6x100)







- 1920mm >

®
=

W2 (6x140)

©
b




%

W2
(6x140)

X6
W2 (6x140)

@/







- 1956mMm ———

] x4
W6 (6x120)

g3

~

x4
W2 (6x140)













o

/
\_

7

, I
x? v
W5 (2x50) \
(E \
/







|
°
°

[y




|
°
°

T 9x20mm

|




